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1 100kN/mM#%#BZ % 1.00({0.00 ~ 223 134.74|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00 11.37 ~ 26.07 134.74|3m%EEZ D =l ~ - - -
Zzh st 1.00{ 2.23 ~ 10.02 100.00| #hkist | 0.00 ~ 10.02 2.80 14.17 ZnLst 1.00f 500 ~ 11.37 100.00] #hkist | 5.00 ~ 26.07| 2.80 14.17
9 100kN/mM#%#BZ % 1.00(0.00 ~ 1.67 125.57|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00 12.69 ~ 26.80 125.57|3m%EEZ 5 =l ~ - - -
Zzh st 1.00({1.67 ~ 946 100.00| Z#hist |0.00 ~ 9.46]| 2.69 13.61 ZnLst 1.00f 500 ~ 12.69 100.00] #hkist | 5.00 ~ 26.80] 2.69 13.61
3 100kN/mM#%#BZ % 1.00(0.00 ~ 147 122.44|3m%EB 25 = ~ - = —| 100kN/mM%#8 2% 1.001 11.23 ~ 17.71 122.44|3m%EEZ D =l ~ - - -
Zzh st 1.00(1.47 ~ 9.26 100.00] #hkist [ 0.00 ~ 9.26) 220 11.11 ZznLst 1.00f 500 ~ 11.23 100.00] #hist | 5.00 ~ 17.71| 2.20 11.11
4 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 751 96.08| ZnList 1000 ~ 751| 2.31 11.70 ZnLst 1.00f 500 ~ 10.16 96.08| Znlist | 500 ~ 10.16] 2.31 11.70
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 644 81.05| #hList 000 ~ 6.44| 1.96 9.92 ZznLst 1.00f 500 ~ 8.38 81.05| #nlis | 500 ~ 838 1.96 9.92
6 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 5.70 71.26| ZhList 1000 ~ 570| 1.85 9.35 ZznLst 1.00f 500 ~ 6.52 71.26] Zhist | 500 ~ 652 1.85 9.35
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZThst ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZThst ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ Zh st ~ Zh st ~
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